2014 LUZON/MINDANAO

SRA-INITIATED BLOCK FARMING PROJECT Validated

Name of Block Farm/Location of Block	Area (Has)	No. of Enrollees	Cultural Practices	Soil Type/ Variety	Produ	rage ictivity /Ha.)	Assistance Needed
Farm	(паз)	Ellionees	9	Planted	Plant Cane	Ratoon Cane	
MAUNLAD SUGARCANE PLANTERS ASSN. Maasin, Pura, Tarlac	47.30	39	Land prep – generally using harrower and furrower, Some animal driven Planting – old varieties; 3.25 to 3.62 lacsa/hectare Fertilization – one dose, based on available capital Cultivation – animal driven Weeding – manual and mechanical Trash management – trash burning, stubble shaving	Sandy Loam Phil 72-70, Phil 74-64	47.41	42.51	OPSI SEMINAR on: proper harvesting, soil sampling, fertilization Farm Mechanization Fertilizer Soil Analysis GPS Mapping Mudpress application HYV Planting materials
BISPMPC BLOCK FARM Makina, Calaca, Batangas	48.75	41	Land prep – generally using harrower and furrower Some animal driven Planting – 2.00 to 3.23 lacsa/hectare Fertilization – one dose 20 bags/ha. 21-0-0 Cultivation – animal driven Weeding – manual Pest/Disease control – no control Cut/Load - manual	Sandy Loam Phil 75-44 VMC 84-524	50.00	41.30	OPSI SEMINAR on: Rate of planting, fertilization, Control of pest/diseases sampling, fertilization Farm Mechanization Fertilizer Soil Analysis - GPS Mapping HYV Planting materials
URDANETA SUGARCANE PLANTERS ASSN. Urdaneta, Magallanes, Cavite	43.00	28	Land prep – Do not practice deep plowing. Generally using harrower and furrowing is carabaodriven Planting – 3-4 lacsa/hectare Fertilization – Urea:7 bags/ha.; 21-0-0: 15 bags/ha. 2 doses for plant cane and 1 dose for RC Cultivation – animal driven Weeding – manual and mechanical Pest/Disease control – no control Cut/Load - manual Trash management – trash burning, stubble shaving	Sandy loam Mixed varieties Phil 75-44			OPSI SEMINAR Farm Mechanization Fertilizer Soil Analysis GPS Mapping HYV Planting materials

.

.

Name of Block Farm/Location of Block Farm	Area (Has)	No. of Enrollees	Cultural Practices	Soil Type/ Variety Planted	Produ	erage activity /Ha.) Ratoon Cane	Assistance Needed
GUINABAN MULTIPURPOSE COOPERATIVE., Guinaban, Ocampo, Camarines Sur	120.17	61	Land prep -tractor for plowing and harrowing Planting - 3-4 truckloads/ha. Whole stalk planting. Fertilization - Urea:5 bags/ha.; 14-14-14: 5 bags/ha. Amount based on availability of loan Cultivation - carabao driven Weeding - manual Cut/Load - manual	Loam to clay loam Phil 56-226 Phil 66-07 Phil 74-64		2.35	Tractor services Soil sampling and analysis GPS Mapping Mudpress application HYV Planting materials
SAKAMPU (SAMAHANG KABUHAYAN NG MANOBO PULANGIHON, INC.), Butong, Quezon, Bukidnon	42.40	22	Land prep – deep plowing is not a practice, only few se tractor for plowing and harrowing Planting – 5-6 lacsa/hectare Fertilization – Amount based on available capital, 2 doses Cultivation – carabao driven Weeding – manual Cut/Load – manual Trash management – trash burning, stubble shaving	Clay loam Phil 88-354	61.50	59.47	Tractor services Soil sampling and analysis GPS Mapping Mudpress application HYV Planting materials
BANTAY SUGARCANE PLANTERS ASSN., Bantay, Solana, Cagayan	50.90		Land prep – 100% mechanized Planting – 4 lacsa/hectare Fertilization – Amount based on available capital,	Clay loam VMC 57-599	40.00	38.00	Tractor services Soil sampling and analysis Mudpress application HYV Planting materials Mechanical harvester
SUCLABAN SUGARCANE PLANTERS ASSN., Suclaban, Mexico, Pampanga	103.64	25	Planting – 1.7 to 2 lacsa/hectare Fertilization – Urea:9.9 bags/ha.; 16-0-0:16 bags/ha. 1 dose Cultivation – carabao driven Weeding – manual and mechanical Cut/Load – manual Trash management – trash burning, stubble shaving	Sandy loam Phil 75-44 VMC 71-39 VMC 84-524	52.48	52.72	OPSI SEMINAR on: Soil sampling, seeding rate, fertilization Farm Mechanization Fertilizer Soil Analysis GPS Mapping Mudpress application HYV Planting materials

.

Name of Block Farm/Location of Block Farm	Area (Has)	No. of Enrollees	Cultural Practices	Soil Type/ Planted Plant Rato Cane Cane			Assistance Needed
LOURDES SUGARCANE PLANTERS ASSN., Lourdes, Bamban, Tarlac	103.80		Land preparation – do not practice deep plowing, Tractor for harrowing, furrowing Planting – 4 lacsa/hectare Fertilization – Amount based on available capital, 1 dose Cultivation – carabao driven Weeding – manual and mechanical Cut/Load – manual Trash management – trash burning, stubble shaving	Phil 74-64 VMC 87-599	733.33	45.83	OPSI SEMINAR on: Soil sampling, seeding rate, fertilization Farm Mechanization Fertilizer Soil Analysis GPS Mapping Mudpress application HYV Planting materials
BRGY. MAHAYAHAY BLOCK FARM, Mahayahay, Hagonoy, Davao del Sur	104.32	50	Land preparation – do not practice deep plowing,	Heavy clay Phil 80-13 VMC 71-39 VMC 95-152 VMC 87-599	62.22	54.32	Soil sampling/Analysis HYV Planting materials
MATALAM-KABACAN SUGARCANE PLANTERS MPC, Mahayahay, Hagonoy, Davao del Sur	92.00	22	Land preparation – lack means of proper tillage				Proper land preparation

.

2014

VISAYAS

SRA-INITIATED BLOCK FARMING PROJECT Validated

LA CARLOTA

Name of Block Farm/Location of Block	Date Organized/	Organized/ (Has) Enrollees Management Planted	rerage Production		Average Production		Average Production		Average Production		Problems & Concerns	Assistance Needed
Farm	Take Over	(Mas)				TC/Ha	LKg/TC	LKg/Ha				
HDA. MALAGA CUENCA AGRARIAN REFORM COOPERATIVE Had. Malaga, Brgy. Robles, La Castellana, Neg. Occ.	1989- organized 2007- registered	50.89	195	Communal/Colle ctively managed	86-550/95- 331/84- 524/2000- 343	67.50	1.97	132.98	Lack of Knowledge in Sugarcane Farming Acidic Soil Lack of HYV Varieties Lack of Hauling Trucks	Irrigation facilities Technical Assistance Farm implements Farm to mill roads SRA-HYV		
VISCAYA AGRARIAN REFORM COOP Sitio Hunob, Brgy. Gomez, Pontevedra, Neg. Occ.	4-Mar-00	200	199	Supervised Credit and Individually Managed with Synchronization of Farm Operations	84-524/84- 947/86- 550/6111	43.60	1.86	81.10	Lack of Knowledge in Sugarcane Farming Acidic Soil Lack of HYV Varieties No Irrigation Facilities Poor Road Network	Technical Assistance SRA HYV Nursery Soil Analysis GPS Mapping.		
ESTELA AGRARIAN REFORM COOP.,Hda. Estela A. Brgy. San Miguel, La Carlota City, Neg. Occ.	14-Mar-96	48.90	54	Supervised Credit and Individually Managed with Synchronization of Farm Operations	84-524/84- 947/86-550	59.40	1.8	106.92	Lack of Knowledge in Sugarcane Farming Acidic Soil Planting mixed varieties Poor Road Network	Farm machineries Technical Assistance Irrigation Facilities Farm to mill roads Fertilizer subsidies		
BRGY. BALABAG ARB PRODUCERS COOP., Brgy. Balabag, La Carlota City, Neg. Occ.	6-Oct-05	69.04	48	Supervised Credit and Individually Managed with Synchronization of Farm Operations	84-524//86- 550/8839	50.38	2.07	104.29	Lack of Knowledge in Sugarcane Farming Acidic Soil Planting mixed varieties Inadequate Fertilizer	Technical Assistance SRA-HYV Nursery Soil Analysis GPS Mapping.		
CAMANDAG RICE AND SUGAR FARMERS ASSOCIATION, Brgy. Camandag, La Castellana, Neg. Occ.	17-Jun-03	40.00	46	Supervised Credit and Individually Managed with Synchronization of Farm Operations	84-947/84- 524	50.00	2	100	Lack of Knowledge in Sugarcane Farming Acidic Soil Planting mixed varieties Poor road network	Technical Assistance High Yielding Varieties of SRA Nursery Soil Analysis GPS Mapping		

LA CARLOTA (Continuation)

Name of Block Farm/Location of Block	Date Organized/	Area	No. of	Type of	Variety	Avei	rage Produ	ction	Problems & Concerns	Assistance Needed
Farm	Take Over	(Has)	Enrollees	Management	Planted	TC/Ha	LKg/TC	LKg/Ha		
HDA. AGUEDA AGRARIAN REFORM BENEFICIARIES ASSOCIATION, Hda. Agueda, Brgy. Lalagsan, La Castellana, Neg. Occ.	2-May-13	56	21	Supervised Credit and Individually Managed with Synchronization of Farm Operations	84-524/86- 550	65.00	2	130.00	Lack of Knowledge in Sugarcane Farming Acidic Soil Planting mixed old varieties Lack of access to new HYV's	Technical Assistance High Yielding Varieties of SRA Nursery Soil Analysis GPS Mapping.
CASAL-AGAN AGRARIAN REFORM COOP, Hda. New Casal-agan, Brgy. Antipolo, Pontevedra, Neg. Occ.	11-Jul-13	224.48	122	Supervised Credit and Individually Managed with Synchronization of Farm Operations	84-524/84- 947	Newly Take over		Lack of Knowledge in Sugarcane Farming Acidic Soil Lack of HYV Varieties No Irrigation Facilities	Technical Assistance High Yielding Varieties of SRA Nursery Soil Analysis GPS Mapping.	
HDA. CAHILAMUNAN AGRARIAN REFORM ASSOCIATION, Brgy. Nato, La Castellana, Negros Occidental		38.93	43	Communal	VMC 84- 524/550	66	2	132.00	Lack of Knowledge in Sugarcane Farming Acidic Soil Lack of HYV Varieties No Irrigation Facilities	Technical Assistance High Yielding Varieties of SRA Nursery Soil Analysis GPS Mapping.
MERCED AGRARIAN REFORM COOPERATIVE, DSB, Pontevedra, Negros Occidental	5-Jul-05	33.00	33	Supervised Credit and Individually Managed with Synchronization of Farm Operations	VMC 84- 524/551	Newly Take over			Lack of Knowledge in Sugarcane Farming Acidic Soil Lack of HYV Varieties No Irrigation Facilities	Technical Assistance High Yielding Varieties of SRA Nursery Soil Analysis GPS Mapping.
9 block farms		761.24	761							

HAWAIIAN-PHILIPPINE (2)

Name of Block Farm/Location of	Date Organized/	Area (Has)	No. of Enrollees	Type of Management	Variety Planted	Average Production			Problems & Concerns	Assistance Needed
Block Farm	Take Over	(IIas)	Linonees	Management	1 lailteu	TC/Ha	LKg/TC	LKg/Ha		
STA. TERESA AGRARIAN REFROM BENEFICIARIES ASSOCIATION, Brgy. Alecante, E.B. Magalona, Negros Occidental	17-Jul-12	34.39	36	Communal/ Collectively Managed	VMC 84- 524/86- 550/95- 09/161/97-41	Newly Take-over		Newly Take-over		Irrigation Technical Assistance Nursery Tractor Trucking Fertilizer
NAPILAS-GRETCHEN FARM WORKERS BENEFICIARIES ASSOCIATION, Had. Gretchen, Brgy. E. Lopez, Silay City, Neg. Occ.	17-Sep-11	35.16	35	Supervised Credit and Individually Managed with Synchronization of Farm Operations	84- 947/484/318 1/mixed	35.46	1.94	68.7924	Lack of Knowledge in Sugarcane Farming Acidic Soil Lack of HYV Varieties No Irrigation Facilities Planting mixed varieties	Tractor Irrigation Trucking Farm to mill site Nursery Warehouse High Yielding Varieties of SRA
2 block farms		69.55	71							

SONEDCO

Name of Block	Date	Area	No. of			Ave	rage Produ	ction	Problems &	
Farm/Location of Block Farm	Organized/ Take Over	(Has)	Enrollees	Type of Management	Variety	TC/Ha	LKg/TC	LKg/Ha	Concerns	Assistance Needed
MALANGSA TUBURAN BAKYAS FARMERS ASSOCIATION, Prk. Tuburan, Brgy. Oringao, Kabankalan City, Neg. Occ.	21-Mar-12	33.33	35	Supervised Credit and Individually Managed with Synchronization of Farm Operations	84-524	40	2.0	80	Lack of knowledge in sugarcane farming.	OPSI TRAINING
BAJAY-PATOL AGRARIAN REFORM COOPERATIVE, Caliling, Cauayan, Neg. Occ.	15-Apr-98	37.25	24	Supervised Credit and Individually Managed with Synchronization of Farm Operations	mixed	35	1.9	66.5	Lack of knowledge in sugarcane farming. Poor road access and farm was on the mountainous area.	OPSI TRAINING/ seminars
SAN JOSE VILLA MULTI- PURPOSE COOPERATIVE, KM 110, Dancalan, Ilog, Neg. Occ.	Date organized 5/23/1991. Date Reg. Sept 30, 2010	40.9	18	Supervised Credit and Individually Managed with Synchronization of Farm Operations	84-524	40	2.0	80	Lack of knowledge in sugarcane farming.	OPSI TRAINING
GEMORA CHUA AGRARIAN REFORM COOPERATIVE		37.5	20	Supervised Credit and Individually Managed with Synchronization of Farm Operations	8839,mix ed	60.9	2.0	121.191	Lack of high yielding varieties, Lack of knowledge in sugarcane management	Seminars Farm facilities Soil analysis New varieties
CAMINGAWAN AGRARIAN REFORM BENEFICIARIES ASSOCIATION, Purok Payong, Brgy. Camingawan, Kabankalan, Neg. Occ.	2014	50	55	Supervised Credit and Individually Managed with Synchronization of Farm Operations		35	2.1	73.5	On process CLOA and APCP Lack of knowledge in sugarcane farming.	OPSI TRAINING
BULIG USWAG SANG GRUPO UPOD SA ASOSASYON SANG MANGUNGUMA KAG MAMUMUMUGON, Had Fabrica, Brgy. Camansi, Kabankalan City	5/20/2013	50.66	34	37.66 hectares individually managed; 13 hectares communally managed	84-524 84-947	70	1.8	126	No soil analysis high yielding varieties seminars and trainings lack of farm implements	Seminars Farm facilities Soil analysis New varieties
6 block farms		249.61	186	•						

DACONGCOGON

Name of Block	Date	Area	No. of			Ave	rage Produ	ction	Problems &	
Farm/Location of Block Farm	Organized/ Take Over	(Has)	Enrollees	Type of Management	Variety	TC/Ha	LKg/TC	LKg/Ha	Concerns	Assistance Needed
FARMERS FRIENDLY ENVIRONMENT FOR SUSTAINABLE DEV'T. ASSOCIATION, Prk. Sambag, Brgy. Tagoc, Kabankalan City, Neg. Occ.	9-Dec-03	78.3	41	Supervised Credit and Individually Managed with Synchronization of Farm Operations	VMC 84- 524	66.3	2.23	147.849	Lack of Knowledge in Sugarcane Farming Acidic Soil Lack of HYV Varieties No Irrigation Facilities	Technical Assistance High Yielding Varieties of SRA Nursery Soil Analysis GPS Mapping.
PACAO WOMENS ASSOCIATION, Pacao, Bantayan, Kabankalan City, Neg. Occ	3-Jun-01	70.5	50	Supervised Credit and Individually Managed with Synchronization of Farm Operations	84-524	22.36	1.96	43.8256	Lack of Knowledge in Sugarcane Farming Acidic Soil Lack of HYV Varieties No Irrigation Facilities Low Productivity Planting old varieties	Technology High Yielding varieties Technical assistance
CROSSING IBOS FARMERS CREDIT COOPERATIVE, Brgy. Tapi, Kabankalan City	March 2, 1991	49.00	26	Supervised Credit and Individually Managed with Synchronization of Farm Operations	mixed/84 -947/84- 524/484	56.68	1.9	107.692	Lack of Knowledge in Sugarcane Farming Acidic Soil Planting mixed varieties Inadequate Fertilizer	Technical Assistance High Yielding Varieties of SRA Nursery Soil Analysis GPS Mapping.
TALACDAN AGRARIAN REFORM BENEFICIARIES, Purok 4, Brgy. Talacdan, Cauayan, Negros Occidental	December 10, 2013	88.3	88	Supervised Credit and Individually Managed with Synchronization of Farm Operations	HYV white VMC, 84- 524	41.52	1.98	82.20	Farm Equipment (Tractor/Trucking implements)/Financia l assistance	Farm technology Road network Farm equipment Financial assistance
BANTAYAN ORGANIC GROWERS ASSN, Bantayan, Kabankalan City, Negros Occidental	December 2, 2004	60.0	40	Supervised Credit and Individually Managed with Synchronization of Farm Operations	HYV, 84- 524, mixed	54.37	1.97	107.10	Farm to market road Lack of farm implements, Trainings HYV Equipment for their organic fertilizer production	Canepoints Hauling Units Tractor with complete implements

DACONGCOGON (Continuation)

Name of Block Farm/Location of Block	Date Organized/	Area	No. of	Type of Management	Variety	Average Production			Problems &	Assistance Needed	
Farm	Take Over	(Has)	Enrollees	Type of Management	variety	TC/Ha	LKg/TC	LKg/Ha	Concerns	Assistance Needed	
MATABA WOMENS ASSOCIATION, Magballo, Kabankalan, Neg Occ	21-Jun-04	77.0	35	Supervised Credit and Individually Managed with Synchronization of Farm Operations	HYV, 84- 524, 8839, mixed	60	1.6	96	lack of trainings and seminars, lack of farm implements and HYV	farm implements, farm to market road, trainings and seminar HYVs	
6 block farms		423.10	280								

BAIS-URSUMCO(1)

Name of Block	Date	Area	No. of	- J I		Avei	age Produ	ction	Problems &	Assistance
Farm/Location of Block Farm	Organized/ Take Over	(Has)	Enrollees	Management	Variety	ТС/На	LKg/TC	LKg/Ha	Concerns	Needed
POLO PLANTATION AGRARIAN REFORM BENEFICIARIES COOPERATIVE, Polo, Tanjay City, Negros Oriental	Dec.28, 2000	108	74	Communal	Mixed	30	1.9	57	Lack of Capital Planting mixed varieties	Farm Machineries Technical Assistance New HYV of SRA
STA. CRUZ NUEVO CONSUMERS COOPERATIVE, Sta. Cruz, Nuevo, Tanjay City, Negros Oriental		41.69	55	Communal	88-354/2000- 2569	49.03	2.39	117.182	Lack of Knowledge in Sugarcane Farming Acidic Soil Lack of HYV Varieties No Irrigation Facilities	Training and Capability Building Technology
AGRARIAN REFORM COMMUNITY COOPERATIVE, Namonbon, Abis, Mabinay, Neg. Oriental	August 31, 2010	32.00	40	Supervised Credit and Individually Managed with Synchronization of Farm Operations	8013, 99-1793, 6607, 84-524, 2000-2569	54.97	1.86	102.24	Lack of Knowledge in Sugarcane Farming Acidic Soil Lack of HYV Varieties No Irrigation Facilities	Technical Assistance High Yielding Varieties of SRA Nursery Soil Analysis GPS Mapping.
CAMPANUN-AN AGRARIAN REFORM ASSOCIATION, Campanun-an, Mabinay, Neg. Oriental	21-May-14	77.70	59	Supervised Credit and Individually Managed with Synchronization of Farm Operations	88-39/VMC 84-524	49.29	1.89	93.1581	Lack of new technology in farming Low Productivity Lack of High Yielding Varieties Lack of farm equipment Lack of Financial Assistance	Financial Assistance Training and seminars HYV's and Farm Equipment
PANTAO MULTI-PURPOSE FARMERS COOPERATIVE, Brgy. Pantao, Mabinay, Negros Oriental	May 23,1998	138.7	59	Supervised Credit and Individually Managed with Synchronization of Farm Operations	88-39/84- 524/mixed	59.58	2.00	119.16	Lack of new technology in farming Low Productivity Lack of High Yielding Varieties Lack of farm equipment Lack of Financial Assistance	Financial Assistance Training and seminars HYVs Farm Equipment

BAIS-URSUMCO (Continuation)

	_					Avei	rage Produ	ction		
Name of Block Farm/Location of Block Farm	Date Organized/ Take Over	Area (Has)	No. of Enrollees	Type of Management	Variety	ТС/На	LKg/TC	LKg/Ha	Problems & Concerns	Assistance Needed
MALUBOG AGRARIAN REFORM BENEFICIARIES ASSOCIATION, Malubog, Datagon, Pamplona, Negros Oriental	Feb. 1,2000	39.3	42	individually manage	mixed	43.23	1.68	77.18	Lack of technology in farming Low production Lack of HYV varieties	Financial Assistance Training/Seminar HYVs
MANDALUPANG AGRARIAN REFORM BENEFICIARIES MPC, Sitio Cambuning, Brgy. Mandalupang, Manjuyod, Negros Oriental	Sept. 21, 1999	78.52	78	Supervised Credit and Individually Managed with Synchronization of Farm Operations	mixed	40.86	1.94	82.75	Lack of technology in farming Low production Lack of HYV varieties	Training and seminars HYV
BUTONG AGRARIAN REFORM BENEFICIARIES ASSOCIATION, Brgy. Butong, Manjuyod, Negros Oriental	1-Mar-13	32.75	47	Supervised Credit and Individually Managed with Synchronization of Farm Operations	mixed	28.47	1.73	48.89	Lack of technology in farming Low production Lack of HYV varieties	Training/ Seminars HYV
ARAPILES AGRARIAN REFORM BENEFECIARIES MPC, Arapiles, Simborio, Pamplona, Negros Oriental	February 14,1988	62.4	32	Supervised Credit and Individually Managed with Synchronization of Farm Operations	mixed	41.65	1.97	82.85	Lack of technology in farming Low production Lack of HYV varieties	Financial Assistance Training And Seminars HYVs
CAMBAGAHAN COMMUNITY FARMERS ASSOCIATION, Brgy. Campanun-an, Sitio Cambinas, Mabinay, Negros Oriental	2006	36.8	23	Supervised Credit and Individually Managed with Synchronization of Farm Operations	84-524 8839 mixed	40	1.8	72	Lack of financial assistance Lack of fertilizer supplies Lack of HYV Lack of farm implements	Fertilizer supplies Financial support New varieties Farm equipment

BAIS-URSUMCO (Continuation)

Name of Block Farm/Location of Block	Date Organized/	Area	No. of	Type of	Variety	Avei	rage Produ	ction	Problems &	Assistance Needed
Farm	Take Over	(Has)	Enrolees	Management	variety	TC/Ha	LKg/TC	LKg/Ha	Concerns	
MATOBATO AGRARIAN REFORM BENEFICIARY ASSOCIATION, Tinandugan Matobato, Bindoy, Negros Oriental	14-Apr-08	39.8	68	Supervised Credit and Individually Managed with Synchronization of Farm Operations	mixed	19.33	1.6	30.93	lack of seminars/trainings and HYVs	Seminars and trainings High Yielding Varieties
9 block farms		684.7	576							

TOLONG

Name of Block	Date	Area	No. of	Type of		Avei	rage Produ	ction	Problems &	Assistance
Farm/Location of Block Farm	Organized/ Take Over	(Has)	Enrollees	Management	Variety	ТС/На	LKg/TC	LKg/Ha	Concerns	Needed
MANINIHON OMOD- CATMON POSI-ON FARMERS MULTI-PURPOSE COOP., Sitio catmon, Brgy. Maninihon, Bayawan City, Negros Oriental	March 8,1998	102	72	Supervised Credit and Individually Managed with Synchronization of Farm Operations	Mix	40	1.8	72	Low production, Mixed variety Less knowledge in sugarcane farming Financial	Financial HYV OPSI
AGRARIAN REFORM BENEFICIARIES ASSOCIATION, KM 43, Albiaga, Siaton, Negros Oriental	11-Feb-10	42	59	Supervised Credit and Individually Managed with Synchronization of Farm Operations	86-550/88- 354/66-07	30.26	1.91	57.7966	Lack of Knowledge in Sugarcane Farming Acidic Soil Planting old varieties No Irrigation Facilities	Financial Technologies in Sugarcane Farming HYV
ALBIGA AGRARIAN BENEFICIARIES MULTIPURPOSE COOPERATIVE, Second Floor, Siaton, Public Market, Siaton, Negros Oriental	Sept. 10, 1998	37.1	15	Supervised Credit and Individually Managed with Synchronization of Farm Operations	88-354/71- 39/6607	39.33	2	78.66	Lack of farm implements (truckings, machines) Lack of trainings/ seminars	Farm implements Trainings/ seminars
3 block farms		181.10	146							

BISCOM

Name of Block	Date	Area	No. of	Type of	** *	Avei	rage Produ	ction	Problems &	Assistance
Farm/Location of Block Farm	Organized/ Take Over	(Has)	Enrolees	Management	Variety	ТС/На	LKg/TC	LKg/Ha	Concerns	Needed
TARC-TARA AGRARIAN REFORM COOP./ Sitio Tara, Carabalan Himamaylan City Neg. Occ	2002	47	32	individually managed	VMC 84-524, VMC84- 947,VMC86- 550	52.7	1.78	94.9	Poor road network Lack of knowledge in sugarcane farming	OPSI Seminar
CARBA- CAMPI AGRARIAN REFORM BENEFICIARIES ASS'N/ Purok Silverio Brgy. Pilar Hinigaran Neg. Occ	30-May-13	70.03	47	Under Had. Management	VMC 84-524, 947	100	2	200	Conflict between the previous owner and the beneficiaries Lack of knowledge in sugarcane farming	OPSI Seminar
UFIMCO- UNITED FISHERMEN MULTI- PURPOSE COOP./ Pta. Talaban, Himamaylan City Neg. Occ	Dec 19, 2002	32.17	20	communal	VMC84-947	62.5	1.83		Lack of knowledge in sugarcane farming	OPSI Seminar
PROFABA- PROSPERIDAD FARMERS BENEFICIARIES ASSN/ Brgy. Payao, Binalbagan Neg. Occ	10-Oct-13	45.96	39	individually managed	Mixed	45	2.0	90	Lack of knowledge in sugarcane farming.	OPSI Seminar
PISON ARCEO FARMERS BENEFICIARIES, Lanka, Brgy. Mambagaton, Himamaylan City, Neg. Occ.		46.00	45	Supervised Credit and Individually Managed with Synchronization of Farm Operations	84-524/84- 947	34.7	1.94	67.318	Lack of Knowledge in Sugarcane Farming Acidic Soil Lack of HYV Varieties No Irrigation Facilities	Financial Assistance
PALAYOG FARM WORKERS ASSOCIATION, Brgy. Palayog, Hinigaran, Negros Occidental	7-Apr-13	79.36	62	Under Had. Management	VMC 84-524, 947	75	2	150	Poor road network Lack of knowledge in sugarcane farming	OPSI Seminar
CARVINA ARANDA MANSULAO AGRARIAN REFORM BENEFICIARIES ASSN., Brgy. Aranda, Hinigaran, Negros Occidental	4-Sep-13	96	116	Under Had. Management	VMC 84-524, 947	77.50	2.0	155	Transportation in going into the farm Lack of knowledge in sugarcane farming	OPSI Seminar
7 block farms		416.52	361.00							

MAAO

Name of Block	Date	Area	No. of	Type of		Avei	rage Produ	ction	Problems &	Assistance
Farm/Location of Block Farm	Organized/ Take Over	(Has)	Enrollees	Management	Variety	ТС/На	LKg/TC	LKg/Ha	Concerns	Needed
HACIENDEROS AGRARIAN REFORM COOPERATIVE, Purok Kalubihan, Brgy. Tabunan, Bago City, Neg. Occ.	7-0ct-13	68.68	71	Supervised Credit and Individually Managed with Synchronization of Farm Operations	84-524	80	1.7	136	Farm to mill roads HYV varieties Farm equipment Low productivity	OPSI seminar Technical assistance
STA. RITA FARMERS MPC, Brgy. Dulao, Bago City, Neg. Occ	1994	54	58	Supervised Credit and Individually Managed with Synchronization of Farm Operations/CLOA on Process	8013x86550 84-524 87- 599 83-331	48	2.2	105.6	Farm to mill roads HYV varieties Farm equipment Low productivity	OPSI seminar Technical assistance
2 block farms		122.68	129							

SAGAY-DANAO (3)

Name of Block	Date	Area	No. of	Type of		Ave	rage Produ	ction		Assistance
Farm/Location of Block Farm	Organized/ Take Over	(Has)	Enrollees	Management	Variety	ТС/На	LKg/TC	LKg/Ha	Problems & Concerns	Needed
MINAPASUK UPLAND FARMERS AGRI-VENTURES MARKETING COOPERATIVE, Brgy. Minapasuk, Calatrava, Neg. Occ.	4/19/2013	44	19	Supervised Credit and Individually Managed with Synchronization of Farm Operations	88-354	45	1.5	67.5	Lack of Knowledge in Sugarcane Farming Acidic Soil Planting mixed varieties No Irrigation Facilities Lack of Capital	Technical Assistance High Yielding Varieties of SRA Nursery Soil Analysis GPS Mapping.
HAD. ANITA FARM WORKERS ASSOCIATION, Sitio Lauayan, Brgy. Dian-ay, Escalante City	3/24/2011	33	35	Communal	86-550,88- 354	50	1.6	80	Farm Equipment Farm to Market roads Low production No parcellary maps No soil analysis	Access to equipment and machineries, Tap LGU responsible for roads rehab Trainings and seminars Conduct GPS Conduct soil analysis
MINAPASOK UPLAND FARMERS ASSN, Crossing Cauayan, Brgy. Minapasuk, Calatrava	9/26/2013	105	36	Supervised Credit and Individually Managed with Synchronization of Farm Operations	88-354	45	1.6	72	Farm Equipment, Farm to Market roads Low production No parcellary maps No soil analysis	Access to equipment and machineries Tap LGU responsible for roads rehab Trainings and seminars Conduct GPS Conduct soil analysis
SAN ISIDRO AGRARIAN REFORM COOPERATIVE, Brgy. San Isidro, Toboso	12/9/2014	75	47	Communal	524/947	40.8	1.58	64.46	Lack of knowledge in sugarcane farming Acidic soil Planting mixed varieties No irrigation facilities Lack of capital	Technical assistance HYV of SRA Nursery Soil Analysis GPS Mapping
4 block farms		257	137				*			

LOPEZ (1)

Name of Block	Date	Area	No. of	Type of		Avei	age Produ	ction	Problems &	Assistance
Farm/Location of Block Farm	Organized/ Take Over	(Has)	Enrolees	Management	Variety	TC/Ha	LKg/TC	LKg/Ha	Concerns	Needed
MIRASOL DEVELOPMENT CORPORATION ARB ASSOCIATION, Brgy. Andres Bonifacio, Sagay City, Negros Occidental	8/7/2012	36.77	134	Supervised Credit and Individually Managed with Synchronization of Farm Operations	HYVs 84-524, 8839, 84- 947,88-354, 95-09 (mixed)	45	2	90	Lack of farm implements Lack of knowledge in sugarcane farm management Lack of access for the new HYVs	Farm implements seminars and trainings, HYVs
PANAGHIUSA SA OBREROS SA PUROK MALIGAYA, Brgy. Gen. Luna Park, Maligaya, Brgy. Gen. Luna, Sagay City	3/17/2010	30.4	22	Supervised credit and individually managed with synchronization of farm operations	87-599 87-947	39.72	1.83	72.68	Lack of farm implements Lack of knowledge in sugarcane farm management Lack of access for the new HYVs	Farm implements Seminars and trainings HYVs
2 block farms		67.17	156		5					

VICTORIAS

Name of Block	Date	Area	No. of	Type of		Avei	rage Produc	ction	Problems &	Assistance
Farm/Location of Block Farm	Organized/ Take Over	(Has)	Enrollees	Management	Variety	ТС/На	LKg/TC	LKg/Ha	Concerns	Needed
HDA. CANA-AN ARB ASSOCIATION, Hda. Cana- an, Brgy. Mabini, Cadiz City, Neg. Occ.	October 26, 2010	41.94	21	Communal	86-550, 84- 524	80	2.16	172.8	Issuance of Brgy. Certificate Lack of facilities in sugarcane farm Minimal knowledge on sugarcane technology	Sugarcane Farm Management seminar Farm Implements
HDA. CANDELARIA AGRARIAN REFORM COOPERATIVE, Hda. Candelaria, Manapla, Neg. Occ.	Feb.12, 2014	43	53	Communal	86-550, 84- 524	63.07	2.12	133.708	Lack of facilities in sugarcane farm (tractor, Irrigation)	Soil Sampling HYV facilities
NABINAY AGRARIAN COOPERATIVE, Cadiz City, Negros Occidental	15-Jul-13	61.84	49	Communal	86-550, 84- 524	70.00	2.00	140	Lack of Knowledge in Sugarcane Farming Acidic Soil Lack of HYV Varieties No Irrigation Facilities	Soil Sampling, HYV GPS Mapping
DALAYAPAN AGRARIAN REFORM BENEFICIARIES ASSOCIATION, Brgy. Caduhaan, Cadiz City	August 30,2012	96	95	Communal	86-550, 84- 524,84-947	70.047	1.968	137.852	Lack of facilities in sugarcane farm (tractor, Irrigation)	Soil Sampling, HYV GPS Mapping facilities
SAN JUAN TORENA AGRARIAN REFORM COOPERATIVE, Brgy. Caduhaan, Cadiz City, Neg. Occ.	September 30, 2010	61.42	33	Communal	84-524, 86- 550; 84-947, 2004-1011	78.404	1.9679	154.291	Lack of facilities in sugarcane farming (Farm tractor, Irrigation),	GPS mapping HYV Soil Sampling Sugarcane Farm Management Seminar
HACIENDA DAPDAP AGRARIAN REFORM BENEFICIARIES AND FARMERS ASSOCIATION	March 20, 2012	40	26	Communal*	HYVs, mixed 84-524, 8839, 87599, 84-947	60	2	120	Lack of Knowledge in Sugarcane farm management Seminars and trainings Irrigation system	Seminars and trainings Irrigation system

Name of Block	Date	Area	No. of	Type of		Avei	rage Produ	ction	Problems &	Assistance
Farm/Location of Block Farm	Organized/ Take Over	(Has)	Enrolees	Management	Variety	TC/Ha	LKg/TC	LKg/Ha	Concerns	Needed
HAD. CANDELARIA FARMERS ASSOCIATION, Had. Candelaria, Brgy. Purisima, Manapla, Neg. Occ.	March 4, 2013	36.23	25	Communal	84-524 86-550	68.44	1.11	144.40	Lack in sugarcane farm management Seminars and trainings Irrigation system	Tractor Fertilizer Financial assistance Seminar Soil analysis GPS mapping
7 block farms		380.43	312							

BAC-MURCIA

Name of Block	Date	Area	No. of	Type of		Avei	rage Produ	ction	Problems &	Assistance
Farm/Location of Block Farm	Organized/ Take Over	(Has)	Enrollees	Management	Variety	ТС/На	LKg/TC	LKg/Ha	Concerns	Needed
AMAYCO FARMERS IRRIGATORS ASSOCIATION, Brgy. Amayco, Murcia, Neg. Occ.	2010	58.91	34	Individual	524,824,354. White Vmc.	50.82	1.99	101.132	Farm to Mill Road.	Technical Assistance OPSI Seminar
MINOYAN AGRARIAN REFORM BENEFICIARIES MULTI-PURPOSE COOPERATIVE, Brgy. Minoyan, Murcia, Neg. Occ	Feb. 15, 1991	45.5	17	Supervised Credit and Individually Managed with Synchronization of Farm Operations	84-947, 83- 331, White VMC	53.06	2.10	111.426	Poor road access from farm to mills, Follow- up training	Technical Assistance Seminar
HDA. NACAB AGRARIAN REFORM COOPERATIVE, Hda. Nacab, Brgy. Bubog, Talisay City, Neg. Occ.	1-Jul-13	59	69	Communal	86-550/84- 524	70	2.11	147.7	Lack of Knowledge in Sugarcane Farming Acidic Soil Lack of HYV Varieties No Irrigation Facilities	Technical Assistance High Yielding Varieties of SRA Nursery Soil Analysis GPS Mapping
3 block farms		163.3	120							

SAN CARLOS (2)

Name of Block	Date	Area	No. of	Type of		Avei	rage Produ	ction	Problems &	
Farm/Location of Block Farm	Organized/ Take Over	(Has)	Enrollees	Management	Variety	ТС/На	LKg/TC	LKg/Ha	Concerns	Assistance Needed
TRES MARIAS ARB ASSOCIATION, Brgy. Agpangi, Calatrava, Negros Occidental	2-Feb-10	31.50	13	Supervised Credit and Individually Managed with Synchronization of Farm Operations	mixed	41.76	1.78	74.3328	Farm to market roads	Financial Assistance Irrigation Facilities Technical Services Trucking services
MAG-UUMANG NAGPAKABANA UG NAGKAHIUSA SA HDA. PAZ ASSOCIATION INC., Brgy. Hibaiyo, Guihulngan, Neg. Occ.	7-Jun-96	41.00	36	Supervised Credit and Individually Managed with Synchronization of Farm Operations	mixed	38.50	1.72	66.22	Tenurial Problem (CLOA Processing)	Financial Assistance Irrigation Facilities Technical Services Trucking services
MAGLAHOS AGRARIAN REFORM BENEFICIARIES ASSOCIATION, Brgy. Maglahos, Vallehermoso, Negros Oriental		49.58	29	Supervised and Individually Managed with Synchronization of Farm Operations	mixed	41.77	1.78	74.35	Trucking and hauling Lack of trainings and seminars Financial	Financial assistance Technical services Trucking services
3 block farms		122.08	78							

PASSI (4)

Name of Block	Date	Area	No. of	Type of		Avei	rage Produ	ction	Problems &	Assistance
Farm/Location of Block Farm	Organized/ Take Over	(Has)	Enrollees	Management	Variety	ТС/На	LKg/TC	LKg/Ha	Concerns	Needed
AGLALANA GREEN FARMERS ASSO., INC., Brgy. Aglalana, Passi City, Iloilo City	14-Jul-08	40	17	Supervised Credit and Individually Managed with Synchronization of Farm Operations	Mixed	37.41	1.41	52.7481	More Information about Sugarcane production	HYVs Technical assistance
BANTAYAN FARMERS ASSOCIATION, Brgy. Bantayan, San Enrique, Iloilo City	July 29,2013	54.54	41	Owned & individually managed/CLOA holder/individuall y managed	*VMC 84-524, *B-150 ,Mixed	39.2	1.73	67.816	Lack of knowledge about sugarcane management	SRA OPSI trainings and seminars Latest HYV Soil sampling GPS mapping
RUMARAGAYRAY AGRARIAN REFORM BENEFICIARIES ASSOCIATION, Brgy. Rumaragayray, San Enrique, Iloilo	28-Jan-09	38.086	46	Owned & individually managed/CLOA holder/individuall y managed	Mixed	53.82	1.66	89.3412	Lack of financial assistance	
DALICANAN FARMERS ASSOCIATION, Brgy. Dalican, Passi City, Iloilo	1-0ct-12	102	41	Owned & individually managed/CLOA holder/individuall y managed	Mixed	50.74	1.81	91.84	Lack of knowledge about sugarcane management, no GPS	SRA- technical assistance Soil sampling, GPS mapping HYV nursery Demo farm
4 block farms		234.63	145							

MONOMER (3)

Name of Block	Date	Area	No. of	Type of		Avei	rage Produ	ction	Problems &	Assistance
Farm/Location of Block Farm	Organized/ Take Over	(Has)	Enrollees	Management	Variety	ТС/На	LKg/TC	LKg/Ha	Concerns	Needed
TRACIANO MULTI- PURPOSE COOPERATIVE, Brgy. Traciano, Dumarao, Capiz	May-97	55	18	Supervised Credit and Individually Managed with Synchronization of Farm Operations	74-04, 84-524, Imelda, Mix	40	1.7	68	Lack of production capital Poor road condition Lack of technical assistance (seminars) Access to new HYVs	Trainings/Seminar Financial Assistance New HYVs Farm to Mill Road
PROGRESSIVE WOMEN AND AGRARIAN REFORM COOPERATIVE, Brgy. Gibato, Dumarao, Capiz	5-Mar-99	100	34	Supervised Credit and Individually Managed with Synchronization of Farm Operations	8013, 6723, 84-524, mix	50	1.8	90	Poor road condition Lack of production assistance (trainings & financial) Access to new HYVs Lack of tractor services	Tractor New HYVs Fertilizer assistance Financial assistance, Seminars/Training Farm to Mill Road
AGSIRAB FARMERS DEVELOPMENT COOPERATIVE, Brgy. Agsirab, Dumarao, Capiz	21-Jan-09	58.85	50	Supervised Credit and Individually Managed with Synchronization of Farm Operations	mixed	52.42	1.86	97.5	Lack of financial - assistance Technical assistance and HYVs	SRA new HYVs Fertilizers Financial assistance Technical assistance
3 block farms		214	102							

CAPIZ

Name of Block	Date	Area	No. of	Type of		Avei	age Produc	ction	Problems &	Assistance
Farm/Location of Block Farm	Organized/ Take Over	(Has)	Enrollees	Managenent	Variety	ТС/На	LKg/TC	LKg/Ha	Concerns	Needed
LANTANGAN SMALL FARMERS COOP.,Brgy. Lantangan, Pontevedra, Capiz	Apr-90	200	35	Supervised Credit and Individually Managed with Synchronization of Farm Operations	84-947, Mix	52	1.6	83.2	Lack of production capital Lack of technical assistance (seminars) Access to new HYVs	Production assistance Trainings Financial Assistance New HYVs
NEW GUIA ARB MPC, Brgy. New bGuia, Maayon, Capiz	November 15,1990	145	45	With organization, Owned, CLOA holder and individually managed/leased	8013,, 84- 947, mix	53	1.65	87.45	Lack of production assistance (trainings & financial) Access to new HYVs Lack of tractor services	Tractor New HYVs Fertilizer assistance Financial assistance Seminars / Trainings
2 block farms		345	80						~	

SANTOS-LOPEZ

Name of Block	Date	Area	No. of	Type of	Variety	Ave	rage Produ	ction	Problems & Concerns	Assistance Needed
Farm/Location of Block Farm	Organized/ Take Over	(Has)	Enrollees	Management	variety	ТС/На	LKg/TC	LKg/Ha		
DE LA PAZ MULTI- PURPOSE COOP., Brgy. De La Paz, Banate, Iloilo City	11-Nov-09	36.95	31	Supervised Credit and Individually Managed with Synchronization of Farm Operations	8013, 84- 524,84-947	38.51	1.88	72.3988	Mixed Varieties Trainings and seminars No basis in applying proper fertilization	Tractor HYV OPSI Seminar, Soil Analysis GPS Mapping
MANAGOPAYA FARMERS ASSOCIATION, Brgy. Managopaya, Banate, Iloilo	September 19, 2008	42.50	31	Supervised Credit and Individually Managed with Synchronization of Farm Operations	mixed	44.38	1.88	83.43	OPSI Training Financial Assistance HYV Tractor GPS Mapping Soil Sampling	OPSI Training, Financial Assistance HYVs Farm implements, GPS Mapping Soil Sampling
YOUNG FARMERS ASSOCIATION OF PANGALATKATON, Brgy. Managopaya, Banate, Iloilo	August 4, 2014	35.25	15	Supervised Credit and Individually Managed with Synchronization of Farm Operations		20.54	1.84	37.8	Lack of training and seminar No HYVs No soil analysis	Seminars and trainings HYVs Soil Analysis GPS mapping
CAMBANGBATO FARMERS ASSOCIATION, Sitio Cambangbato, Bariga, Banate, Iloilo	October 17, 2008	67.30	33	Supervised Credit and Individually Managed with Synchronization of Farm Operations		43.6	1.90	82.84	FA Center HYV Soil Analysis GPS Mapping Financial Farm to mill roads	FA HYVs Soil Analysis GPS Mapping, Financial Assistance Farm Implements Accessible road
4 block farms		182.00	110							

BOGO-MEDELLIN

Name of Block	Date	Area	No. of	Type of		Average Production			Problems &	Assistance
Farm/Location of Block Farm	Organized/ Take Over	(Has)	Enrollees	Management	Variety	TC/Ha	LKg/TC	LKg/Ha	Concerns	Needed
SAN JOSE AGRARIAN REFORM BENEFICIARIES COOPERATIVE, Caputatan Sur, Medellin, Cebu	Nov. 19, 2002	42.87	22	Communal	84-947	32	1.57	50.24	Lack of Knowledge in Sugarcane Farming Acidic Soil Lack of HYV Varieties No Irrigation Facilities	Seminar on sugarcane technology Updated HYV Irrigation Facilities GPS instruments for tractor services Fertilizer assistance
NAGKAHIUSANG MAG- UUMA MAMUMUO PARA SA REPORMANG AGRARIO, Sitio Acacia, Malingin, Bogo City, Cebu	Dec. 7, 1999	31.176	20	Supervised Credit and Individually Managed with Synchronization of Farm Operations	mixed	38	1.53	58.14	Lack of truck for hauling Tractor/implements New HYVs Soil sampling and fertilizer management seminar Farm management seminar	Truck for hauling Farm implements New HYVs Sugarcane farm management seminar
NAGKAHIUSA ANG MAG- UUMA SA CAPUTATAN, Sitio Bangon, Caputatan Norte, Medellin, Cebu	14-May-10	33.50	20	Supervised Credit and Individually Managed with Synchronization of Farm Operations	84-947	40	1.4	56	Lack of financial assistance Lack of technical trainings Lack of HYV Lack of farm implements	Technical and financial
DON VIRGOFA ARB'S COOPERATIVE, Don Virgilio, Medellin, Cebu	14-May-08	217	83	Supervised Credit and Individually Managed with Synchronization of Farm Operations	84-947	40	1.48	59.2	Lack of farm implements Lack of truck for hauling Lack of technical assistance Lack of irrigation facilities Fertilizer assistance and HYVs	Farm implements (tractor) Trucks for hauling Technical assistance Irrigation facilities Fertilizer HYV assistance

Name of Block	Date	Area	No. of	Type of	Variety	Average Production			Problems &	Assistance
Farm/Location of Block Farm	Organized/ Take Over	(Has)	Enrolees	Management		TC/Ha	LKg/TC	LKg/Ha	Concerns	Needed
HACIENDA FILOMENA AGRARIAN REFORM BENEFICIARIES ASSOCIATION, Binabag, Bogo City	September 4, 2001	37.11	40	Individually managed with manager	84-947	32.49	1.4	45.486	Lack of training No soil sampling for soil analysis No access to HYVs Lack of technical assistance Lack of farm implements	Trainings and seminars Soil analysis New HYVs Technical assistance Farm implements (tractors and others)
CANHABAGAT MPC, Brgy. Canhabagat, Medellin, Cebu	15-Mar-99	51.5	31	Supervised Credit and Individually Managed with Synchronization of Farm Operations	84-947	38	1.5	37	Lack of farm implements Seminar High Yielding Varieties Fertilizer assistance	Farm implements (Tractors) Farm Management Seminar High Yielding Varieties Fertilizer Assistance
6 block farms		413.12	216							

ORMOC-HISUMCO

Name of Block	Date	Area	No. of	Type of	Variety	Average Production			Problems &	Assistance
Farm/Location of Block Farm	Organized/ Take Over	(Has)	Enrolees	Management		TC/Ha	LKg/TC	LKg/Ha	Concerns	Needed
LIBONGAO DAR FARMERS BENEFICIARIES ASSOCIATION, Brgy. Libongao, Kananga, Leyte		50	72	Supervised Credit and Individually Managed with Synchronization of Farm Operations	8013/86- 550/mixed	43.67	1.74	75.9858	Lack of technical assistance Lack of financial assistance Lack of access to HYVs Lack of farm implements Lack of trucks for hauling	Trainings and Seminars Seeds for Corn and Vegetables High Yielding Varieties Technical assistance Financial assistance High Yielding Varieties Farm implements Trucks for hauling canes
1 block farm		50	72						-	

SUMMARY

Validated Block Farms - 83

MILL DISTRICT	NO.	NAME OF BLOCK FARMS	No. of Enrolees
	1	Hda. Malaga Cuenca Agrarian Reform Cooperative	195
	2	Viscaya Agrarian Reform Coop	199
	3	Estela Agrarian Reform Coop	54
	4	Brgy. Balabag Arb Producers Coop	48
LA CARLOTA - 9	5	Camandag Rice And Sugar Farmers Association	46
	6	Hda. Agueda Agrarian Reform Beneficiaries Association	21
	7	Casal-Agan Agrarian Reform Coop	122
	8	Hda. Cahilamunan Agrarian Reform Association	43
	9	Merced Agrarian Reform Cooperative	33
	1	Sta. Teresa Agrarian Refrom Beneficiaries Association	36
HAW-PHILS - 2	2	Napilas-Gretchen Farm Workers Beneficiaries Association	35
	1	Malangsa Tuburan Bakyas Farmers Association	35
	2	Bajay-Patol Agrarian Reform Cooperative	24
	3	San Jose Villa Multi-Purpose Cooperative	18
SONEDCO - 6	4	Gemora Chua Agrarian Reform Cooperative	20
SONEDCO - 0	5	Camingawan Agrarian Reform Beneficiaries Association	55
			34
	6	Bulig Uswag Sang Grupo Upod Sa Asosasyon Sang	34
	4	Mangunguma Kag Mamumumugon	41
	1	Farmers Friendly Environment For Sustainable Dev't. Association	41
			F0
	2	Pacao Womens Association	50
DACONGCOGON - 6	3	Crossing Ibos Farmers Credit Cooperative	26
	4	Talacdan Agrarian Reform Beneficiaries	88
	5	Bantayan Organic Growers Assn	40
	• 6	Mataba Womens Association	35
	1	Polo Plantation Agrarian Reform Beneficiaries Cooperative	74
	2	Sta. Cruz Nuevo Consumers Cooperative	55
	3	Agrarian Reform Community Cooperative	40
DAIC LIDCLINACO	4	Campanun-An Agrarian Reform Association	59
BAIS URSUMCO –	5	Pantao Multi-Purpose Farmers Cooperative	59
11	6	Malubog Agrarian Reform Beneficiaries Association	42
	7	Mandalupang Agrarian Reform Beneficiaries Mpc	78
	8	Butong Agrarian Reform Beneficiaries Association	47
	9	Arapiles Agrarian Reform Benefeciaries Mpc	32
	10	Cambagahan Community Farmers Association	23
	11	Matobato Agrarian Reform Beneficiary Association	
	1	Maninihon Omod-Catmon Posi-On Farmers Multi-	72
		Purpose Coop	
TOLONG - 3	2	Agrarian Reform Beneficiaries Association	59
	3	Albiga Agrarian Beneficiaries Multipurpose Cooperative	15
	1	Tarc- Tara Agrarian Reform Coop	32
	2	Carba- Campi Agrarian Reform Beneficiaries Ass'n	47
	3	Ufimco- United Fishermen Multi-Purpose Coop	20
	4	Profaba- Prosperidad Farmers Beneficiaries Assn	39
BISCOM - 7	5		45
		Pison Arceo Farmers Beneficiaries Palayog Farm Workers Association	62
	6		116
	7	Carvina Aranda Mansulao Agrarian Reform Beneficiaries Assn	110
	1	Hacienderos Agrarian Reform Cooperative	71
MA-AO - 2	2	Sta. Rita Farmers Mpc	58
	1	Minapasuk Upland Farmers Agri-Ventures Marketing	19
	-	Cooperative	
SAGAY DANAO - 4	2	Had. Anita Farm Workers Association	35
	3	Minapasok Upland Farmers Assn	36
	4	San Isidro Agrarian Reform Cooperative	47
	1	Mirasol Development Corporation Arb Association	134
LOPEZ - 2	2	Panaghiusa Sa Obreros Sa Purok Maligaya	22